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4. Sketch the direction field for y' = y — x . using the graph paper provided. Show the
graph of the solutions corresponding to _1{0) =2 and ‘1{0) = 0 on your direction field. Then
solve this linear differential equation for y (Hint: Re-write in the form 3" — y = —x.) Your
picture should be in agreement with your symbolic solution.
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5. Use the characteristic polynomial to find the general solution to 3" — 16y = 0. Then
find the particular solution corresponding to the boundary conditions y'(0) = y(0) = 1.

Linear 2nd-order ordinary differential equation with constant coefficients.
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